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X PROGRAM TO LAY OUT A SINTRAN HI SYSTEM
% ON A PAPER-TAPE

h valid for. s-111 79*07.15.A

% MODIFIED

79.06.12 (BHQ)

RASE AA

INTEGER FORM,CUf4IT,CHCB,SAVX,SAVT,BUFFP:=BUFFER

INTEGER DESTFILE/SCURCEFILE

INTF-GFR POINTER OUTTEXT :=90UTTEXT/.READTEXT :=8READTEXT,INST :=9INBT
INTEGER POINTER OUTBT:=90UTBT,MOVCHAR:=9MOVCHAR,TFEED:=9TFEED
INTEGER POINTER STSPACE:=9STSPACE,STAPO:=9STAPO, STCHAR:=9STCHAR
INTEGER POINTER MON70:=9MON?0/COPYTEXT: =TEXT COPY,COPYFILE:=FILECOPY
INTEGER POINTER LINKI,LINK2

ESAB

INTEGER APERIFI LE: = ,.T-PERIPHERAL FILE NAME: |

INTEGER SYSTEM: = | SYSTEM !

INTEGER PTERMINATF. : = FINISHED

INTEGER FILCOPY:='COPY-FILE ("

INTEGER ARRAY PERIFILE(40),BUFFERC140),YESNO(40)

INTEGER SAVB,SAVL,LUN

DISP 0

INTEGER POINTER PDEST,JOBNO % PARAMETER POINTERS

PSID

DISP 7

INSTEGER FINO % DISPLACEMENT IN FILE-NAMES
PSID

%B%BPXXXXXXXXXXT % X%%XXXXXXXX%B%%XX%%%%%%%%%%%%%%%%%%%%%% %%%%%%%%%%%%%XXXX

XX CONFIGURATION

INDEPENDENT FILES.

KXXXXXXXXXXX G XXX XXXXXXXXLX Yo XXX XXX %% Y% % % % % % % % % % % % % % % % % % % % % % % % % % % % % XXX XXX

integer bpuni : =l (sintran) bpuni .-symb |
INTEGER BPUNZ2:=»(SINTRAN)BPUNZ2:SYMB'
INTEGER BPUN4:= '(SINTRAN)3PUN4:SYMB'
INTEGER ULST1 (SINTRAN)ULIST1:SYMB'

INTEGER

ULST2:=,(SINTRAN)ULIST2:SYMB»

INTEGER ULSTA: = »(SINT RAN)ULISTA:SYMB'

% %% %% %% %% %% %% % %%% %% %% % %% %% %% %%z %% %% zzzzzZZXX2222222X 2227 X"
%% CONFIGURATION DEPENDANT FILES. (USER-NAME MUST BE 7 CHARACTERS.)

05 95 % % % % % X X X X XX XXX XX XXX XX XX XXX X X XX XX X X X XXZZXX X XXXXXXXXXT XX XXXXXXXXXXX
INTEGER BPUNS : = | (AUX-SIN)BPUN-OO-5:SYMB!

INTEGER BPUNG6:=,(AUX-SIN)BPUN-DO0-6:SYMB'

INTEGER BPUN7:="' (AUX-SIN)BPUN-OO-7:SYMB'

INTEGER BPUNS:='(AUX-SIN)BPUN-00-8:SYMB'

INTEGER BPUNA: ="' (AUX-SIN)BPUN-OO-A:BPUN'

INTEGER BPUNB: = *(CAUX-SIN)BPUN-OO-B:BPUN !

INTEGER BPUNE:='(AUX-SIN)BPUN-00-E:8PUN"

INTEGER BPUNX : = "(AUX-SIN)8PUN-00-X:BPUN'

INTEGER L5IST:=,(AUX-SIN)LIST-00:SYMB'

XXXBXXXXX%%%%%%% 7. XXXX%%%XXXX%XXT.%%XXXXXXXXXXXXXXXXXXX XXX X XXX XXX XXXX XXX
XX JOB NUMBERS IN ASCII. (DO-99)
XXXXXXXXKXKKXIXKXKIXIXHIXKIKKXHIXKIKIKIXKIKXKKKHIXKXKIXKIXKXKXHXXXXXKXK
alCR;

INTEGER ARRAY J8NO:=(

30060,30061,3006 2,30063,3006A ,30065,30066,30067,30070,30071
30A6G,30461,304 62,30A63,304 64,30465,30466,30467,30470,30A 71,
31060,31061,31062,31063,31064,31065,31066,31067,31070,31071,
31460,31461,31462,31463,31464,31465,31466,31467,31470,31471,
32060,32061,32062,32063,32064,32065,32066,32067,32070,32071,
32460,32461,32462,32463,32464,32465,32466,32467,32470,32471,
33060,33061,33062,33063,33064,33065,33066,33067,33070,33071,
33460,33461,33462,33463,33464,33465,33466,33467,33470,33471,
34060,34061,34062,34063,34064,34065,34066,34067,34070,34071,
34460,34461,34462,34463,34464,34465,34466,34467,34470,34471);

SCR;

XXX XXX X XXX XX, XXXXXXXXXXXXXXXXX?(XXXX XTXXXX XXX XXXXXX X %X XX KXKXKXKXKXKX X XX
1 9,0,9,0.9,9,9,9.9.9.0.9.0.9.0.9.0.9.0.9.0.9.0.9.0.0.0.0.00.9.0.0.00.9.0.90.9.0.9.0.9.09.99.99.99.99.99.9999.99.999 906064

SUPR TAPE !
TAPE£1: A:=B=:SAVB; A:=L=:SAVL
CALL MOONA: CALL TPDLI1

' S</ms
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savo=:b; «avi=:1
EXIT

RPUS

SUBR TAPE3

TAPE 3: A:=:B=:SAVB; A:=:L=:SAVL
CALL MODNA:; CALL TPDUS3
SAVB=:B: SAVL=:L
EXIT

RBUS

SUBR TAPES

TAPES: A:=:B=:SAVB; A:=:L=:SAVL
CALL MODNA: CALL TPDUS5
SAVB=:B; SAVL=:L
EXIT

RBUS

SUBR TAPE 7

TAPF.7: A:=:B=:SAVB; A:=L=:SAVL
CALL MODNA; CALL TPDIJ7
SAVB=: B; SAVL=:L
EXIT

RBUS

XXXXYrXXXXXXXXXXXIoXX], XXYEX XX XX XXXXXXXKXXK XX XXX XXX XXXXXX XX XXXXT, XXX %%X */%%-/yy

SUBR MODNA

MODNA: X :=JOBNO ; A:=JENO(X) %
X:="BPUNS"; A=:X.FINO %
X :=MBPUN6N; A=:X.FINO %
X:="BPUN7M; A=:X.FINO X
X:=M8PUNS8M; A=:X.FINO %
X :=MBPUNAM; A=:X.FINO %
X :=nBPUNB"; A=:X.FINO %
X :=MBPUNEM; A=:X.FINO %
X:=MBPUNX"; A=:X.FINO
X :="L5IST"; A=:X.FINO %
PDF.ST=:LUN; MAA"=:B; LUN=DESTFILE
EXIT

RBUS

GET PARAMETER AND ASCII

MODIFY FILENAMES WITH
JOB-NUMBER.

EQULV.

XXT0BXXXXXX%%T0XX%%7,7.7.%%%%%7.%%%%%%7c%%%%7. %% % %% %%%%%%% %% %%%%%%%7%7.%%%%%%%%%

%%%%7%%%7 7777 7%%%%%%%%%%%%%%% 7% 7%%% 7 %% 7 %% 7%%%%%%%%%%%%%% 1 %%%%%%%

% DUMP TAPE-1 ON PAPER-TAPE

% XX %7 %% 7.% %10 % % %% %% % % % %% % % % 7. % % % % % % % % % % % % % % % % % % % % % % % % %% % % % % % % %% % % % %

SUBR TPDU1
TPDULl: "AA"=:B

A:=L="LINKZ2"
% GIVE TAPE-FEED
CALL TFEED
% COPY TEXT TO
"TXPIY,
"TXST™;
"TXTO",
"TXT1",
"TXTO";

THE

CALL
CALL
CALL
CALL
CALL

PAPER-TAPE
COPYTEXT

COPYTEXT

COPYTEXT

COPYTEXT

COPYTEXT

1. OPEN the FIRST BINARY FILE (BPUN-1-5)
X:="BPUN5"; T:=1; *MON 50; MON 65
A=:SOURCEFILE; CALL COPYFILE

% COPY TEXT TO THE PAPER-TAPE
"TXT8"; CALL COPYTEXT

% COPY NFXT BINARY FILE TO PAPER-TAPE
T :=SOURCEFILE; *MON A3; MON 65

X:="BPUN7m; T:=1; *MON 50; MON 65
A=:SOURCEFILE; CALL COPYFILE

1. COPY TEXT TO THE PAPER-TAPE
"TXT8";CALL COPYTEXT

% COPY SWAP-DRIVER TO DISKETTE
T:=SGURCE FILt; *MON A3; MON 65

X = BPUNB"; T:=1; *MON 50; MON 65
A=:SOURC EFILE; CALL COPYFILE

"TXT3"; CALL COPYTEXT

% OPEN
T:=SOURCEFILE; *MON A3; MON 65
X:=MBPUNG6M; T:=1; *MON 50; MON 65
A=:SOURC EfILE; CALL COPYFILE

% COPY TEXT TO THE PAPER-TAPE

“TXT11””; CALL COPYTEXT

THE NEXT BINARY FILE AND COPY TO PAPER-TAPE
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X OPFN THE NEXT PINARY FILE AND COPY TO
T:=SOURCFFILE; *NON 43; NON 65 PAPER-TAPE

X:="L5IST"; T:=1; =*NoN 50: NON 65
A=:SOURCEF1LE: CALL COPYFILE

X COPY TFXT TO THE PAPER-TAPE
"TXE1"; CALL COPYTEXT

% GIVE TAPE-FEED
CALL TFEED

% CLOSE ALL FILES AND RETURN

T:=SOURCEFILE; *MON A3; JMp *+1
GO LINK?
RRUS

l. DUMP TAPE-3 ON PAPFR-TAPE

IR VM99 9.9.9.09.0.0.0009.0.09.99.9.00.9.99.0.900.0.000.990.99.9.90.9090.090.90990.990.9090.099.00.00.0¢

SUBR TPDU3

TPDUS: "AA"=:B
Az=L=:"L INK2"

X GIVE TAPE-FEED
CALL TFEED

X TEXT TO PAPER-TAPE
"TXP7"; CALL COPYTEXT
"TXST"; CALL COPYTEXT
"TXTP"; CALL COPYTEXT

% COPY FILE TO PAPER-TAPE
X:="BPUNEM;T:=1;*HON 50;MON 65
A=:SOURCEFILE;CALL COPYFILE

YTEXT TO DISKETTE
"TXE3"; CALL COPYTEXT

% GIVE TAPE-FEED
CALL TFEED

X CLOSE ALL-FILES AND RETURN
:=SOURCEFILE; *MON A3; JMP *+1
GO LINK?

RBUS

D696%60696%69696%6%69696%%6 %696 9606 %606 96%96 %606 96096 %6%6 Y66 %6 U6 %66 %66 Y6696 %66 Y6669 Y6 %% %66 %6%%6%%
% PUNCH TAPE-5 TO PAPER-TAPE

%6%%%%%%%%r/%%% %% Yo% % Yo% %% % %% % Ye%e%% %% %% %% %% % %% %% % Y%
SUBR TPDUS

TPDUS: MAAn=:B
A:=L=:"LINK?lU

% GIVE TAPE-FEED
CALL TFEED

% TEXT TO DISKETTE
"TXPS™; CALL COPYTEXT
"TXST"; CALL COPYTEXT
"TX13A"; CALL COPYTEXT
T:=SOURCEFILE; *MON A3; MON 65
X:=MBPUNX"; T:=1; *MON 50; MON 65
A=:SOURCE FILE; CALL COPYFILE
"TX13B"; CALL COPYTEXT
“TXTLAM; CALL COPYTEXT

X copy flle to paper-tape cbpun-i-a
X:="BPUNAT :=1; *MON 50; NON 65
A=:SOURCEFILE; CALL COPYFILE
"TXT15"; CALL COPYTEXT
"TXES"™; CALL COPYTEXT

X GIVE TAPE-FEED
CALL TFEED

X CLOSE ALL FILES AMD RETURN
T :=SOURCEF ILE; *MON A3; JNP *+l!

GO LINK 2
RRUS

% PUNCH TAPE-7 TO PAPER-TAPE
%% %% %%%%%%%%%% %% % %% %% %% %%0%0%% %X % %% % % % % % %% X %% %% % %% % %% %% % %% %% % %% % %%

SUBR TPDU7

TPDU7: "AAM=:B
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X GIVE

X TEXT

X COPY

% TEXT

% CLOSE

RBUS

XX XXX R X

< X

-s -1 4 c

JApE-FFIED
CALL TFELD

TO PAPER-TAPE

"TXP7"; CALL COPYTEXT
"TXST"; CALL COPYTEXT
"TXTT?; CALL COPYTEXT

BPUN-1-8 TO PAPER-TAPE

X:="BPUNS8"; T:=1; *MON 50; MON 65

A=:SOURCEEILE; CALL COPYEILE

TO DISKETTE

"TXTS5"; CALL COPYTEXT

"TXT6"; CALL COPYTEXT

“"TXT7"; CALL COPYTEXT
ALL FILES AND RETURN

T :=SOURCEFILE; *MON A3; JMP *+1

GO LINK2

READTEXT
SUBROUTINE TO READ A TEXT STRING FROM THE TERMINAL
THE INPUT SHOULD BE TERMINATED WITH CARRIAGE RETURN

BE STORED

SUPR FREADTEXT
8RFADTEXT: A:=L=:"LINK1"

X:=0; T=:D
DO CALL INBT WHILE A><15

ENTRY: T=-ADDRESS OF THE ARRAY WHERE THE TEXT STRING SHOULD

RETURN: TEXT STRING TERMINATED WITH THE CHARACTER "I |N THE ARRAY

IF A=?1 THEN W WUJCALL OUTBT; X:=0; GO NEXT FI

IF A=1 THEN
IF X>100 GO NEXT
T:=D; *SBYT,; AAX

NEXT: OD; T:=D; *SBYT
GO LINK1

RPUS

X

% INBT

CALL OUTBT; X-1; GO NEXT FI

g/‘r SUBROUTINE TO READ ONE CHARACTER FROM THE TERMINAL
h

% RETURN: A=CHARACTER

%

SLIBR 9INBT

9INBT: T=:SAVT:=1; *MON 1; MON 65
A/0177; T:=SAVT,; EXIT

RBUS

X

X MOVCHAP

% SUBROUTINE TO MOVE CHARACTERS FROM A TEXT STRING TO AN ARRAY

X

X ENTRY: T=ADDRESS OF TEXT STRING

%

SUBR 9MOVCHAR
QOMOVCHAR: A:=L= :nLINKI1M

RBUS
%

T=:D; X:=0
DO T:=D; *LBYT

WHILE AXffti'; CALL STCHAR; X+1

OD; GO LINK1

% STCHAR

% SUBROUTINE TO STORE ONE CHARACTER

%

X ENTRY: A=CHARACTER

%

SUBR 9STCHAR

9STCHAR: X=:SAVX:=CHCB; T:=BUFFP;
MIN CHCB; X:=SAVX; EXIT

RBUS

X
X STAPO - STSPACE

% SUBROUTINES TO STORE A SPACE OR A

%

SUBR 9STAPO,9STSPACE

9STAPO:

tnt'; GO STCHAR

9STSPACE: 40; GO STCHAR

RBUS

Y.

IN THE ARRAY NAMED BUFFER

*SBYT

"1 IN THE ARRAY NAMED BUFFER
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X OUTTEXT
X SUBROUTINE TO PRINT A TEXT STRING ON THE TERMINAL

X
X ENTRY: A=ADDRESS OF THE TEXT STRING

X

SUBR 90UTTEXT
90UTTEXT: T:=L=:"LINKZ1"

A=:D; X:=D
DO T:=D; *LRYT
WHILE hXiUt !

IF A=##$ THEN 15; CALL OUTBT: 12 FI
CALL OUTBT; X+1

00; GO LINK1
RPUS

X OUTBT
% SUBROUTINE TO OUTPUT ONE CHARACTER ON THE TERMINAL

% ENTRY: A=CHAR ACTER
SUBR QOUTRT
90UTBT: T=:SAVT:=1; *MON 2; MON 65

EXIT
RBUS

% MON70

% SUBROUTINE TO EXECUTE THE MONITOR CALL COMND (MON 70)

SUBR 9MON70
OMON7Q: A:=BUFFP; MON 70; EXIT
RBUS

% COPYTEXT
» SUBROUTINE TO COPY A TEXT STRING TO THE PAPER-TAPE

=S4

ENTRY: A=ADDRESS OF TEXT STRING

~NX X

SUBR TEXT COPY
TEXT COPY; A=:D; X:=0
DO
T:=D; *LBYT, AAX 1
WHILE A><##»
* OSET ZRO70 DA; BSKP ZRO 60 DA; BSET
BSKP ZRO50 DA; BSET BCM 70 DA; BSKP
BSET BCM70 DA; BSKP ZRO 30 DA; BSET
BSKP ZRO20 DA; BSET BCM 70 DA; BSKP
* BSET BCM70 DA; BSKP ZRO 00 DA; BSET
T:=DESTFILE; *MON 2; MON 65
OD; EXIT

* k%

RBUS

X COPY FILE
% SUBROUTINE TO COPY A FILE TO THE PAPER-TAPE

SUBR FILECOPY

FILECOPY: DO
T:=SOURCEFILE; *MON 1; JMP OUT
T:=DESTFILE; *MON 2; MON 65

oD

OUT : IF A=3 THEN EXIT FI
MON 65

RBUS

% TFEED

X SUBROUTINE TO GIVE TAPE-FEED

SUBR 9TFEED
INTEGER NOFEE:=100
9TFEED :"AAM=:8
T:=L=: LINKIMN
*AA*=:B
A:=0; X:=NOFEE
DO WHILE X><O

T:=DESTFILE
MON 2; MON 65
AAX -1

oD

GO LINK1

RRUS

SMAC

B CM
ZRO
BCM
ZRO
BCM

70 DA
40 DA
70 DA
10 DA
70 DA
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)<?RLPL
)°SCLC
TXTO, |

XXX=4000 % RJO 06/06/78!!!1 111 11]

YYY=100
227=4000
)OTAOL XXX YYY 111

TXT1/ ')CLFAR

CRMAX=175777
CLM=1GO
COADR=30000

L ONG=3 0000
XDSKT=0

MCDFF RF 0V

STYP=2
DEVNO=500
DASA=10
DRFS=2000
WACAD=10G0
BLTS =DRE §
RTAD=4700
99MR E =MA C AD
0 =3600

)MCDFF FIXED
MSTYp=2
DEVN0=500
DAS A=1 00010
DRES=102000
M AC AD=101000
BLTS=DRES
RTAD=104200
99MRE=MACAD
Q=103600

JMCDFF DRUM
MSTYP=0
DEVNO=540
DASA=40
DRES=4000
WACAD=2000
BLT S=DR ES
RTAD=10400
99MRE=MACAD
%=7400

JMCDEF BD33
MSTYP=3
DEVNO0=1540
DASA=2
MACAD=200
DRES=400
BLTS=DRES
RTAD=1040
99MRE=MACAD
g=740

JMCDEF BD38
MSTYP=4
DEVNO=1540
DASA=2
MACAD=200
DRES=400
BLTS=DRES
RTAD=1040
99MRE=MACAD
%2740

IMCDEF BD66
MSTYP=3
DEVNO=1540
DASA=2
MACAD=200
DRES=400
BLTS=DRES
RTAD=1040
99MRE=MACAD
0 =740

f.

JMCDEF 6D75
MSTYP=4
DEVNO0=1540
DASA=2
MACAD=200

D RE S=400
BLTS=DRES
RTAD=1040



3 Q-740
) KI'LL XDSKT
U

)MCDEF BD288
MSTYP-¢
DEVNO=1540
0ASA=?

M ACAD =200

- DRE S=400
BLTS=DRES
RTAD=1040

o 99MRE=MACAD
0=74G
éDSKTzloOOOO
YMCDEF BDREM
JISTYP =6

s DEVN0=1540
DASA=2
MACAD=2P0
DRES=400
BLTS=DRES
RTAD=104P

& 99MRF =MACAD
Q=740
8

JMCDEF BDFIX
MSTYP=6
DEVNO0=1540

s* D ASA=1POOP?
MACAD=1P02P0O
D RES =1 00400

-~ 3LTS=DRF$
RTAD=101040
99MR E=MACAD
0=100740
8

2,1$
XX

% 1<% CHOOSE MASS STORAGE BY GIVING ONE OF THE FOLLOWING CODES
XX FOLLOWED BY CARRIAGE RETURN AND LINE FEED

XX

%% IFSYSTEM ON BIG-DISC 33 MEGABYTES, TYPE: BD33

XX IFSYSTEM ON BIG-DISC 38 MEGABYTES, TYPE: BD33

XX IF SYSTEM ON BIG-DISC 66 MEGABYTES, TYPE: BD66

0] XX IFSYSTEM ON BIG-DISC 75 MEGABYTES, TYPE: GD75
XX IF SYSTEM ON BIG-DISC 288 MEGABYTES, TYPE: BD288
XX IF SYSTEM ON REMOVABLE CARTRIDGE DISC, TYPE: REMOV
0] XX IF SYSTEM ON FIXED CARTRIDGE DISC, TYPE: FIXED
XX IF SYSTEM ON DRUM, TYPE: DRUM
XX IF SYSTEM ON REMOVABLE PHOENIX DISC, TYPE: BDREM
0O ))82 IF SYSTEM ON FIXED PHOENIX DISC, TYPE: BDFIX
XX TYPE 2,06 AND WHEW THE MACHINE ANSWERS WITH CARRIAGE RETURN
O XX AND LINE FEED, TYPE 2,0% TO CONTINUE
1,08
0
TXT3, |
)9B YT; MSTYP DEVNO COADR LONG CLM BLTS MACAD CRMAX MACAD DASA
2,0,?
YOREAD
XTS5, *2,1%
XX
(0] XX ALL CORRECTIONS (PATCHES) EXCEPT IN THE FILE SYSTEM AND
XX RT-LOADER MAY BE DONE NOW.
XX
XX AFTER YOUR CORRECTIONS, TYPE 2,0$
1,08
TXT6, '30/DRES
? IXDSKT
O )GJ EM

DKILL CRMAX
CRMAX=77777

)9BYTT MSTYP DEVNO COADR LONG CLM BLTS DRES CRMAX MACAD DASA
|
TXT7, *2,1%

XX

XX IF YOU WANT A CTOM-TAPE, (SEE MACM-MANUAL)

XX TYPE 1,0,3$ AND )9CTOM

XX

XX

XX AFTERWARDS,

XX THE SINTRAN 111 SYSTEM MAY BE STARTED BY TYPING 22!
XX

1,0$

f

TXT8, *2,0,2%



YPREAD

TYT9,

>qbytt mstyp devno coadr long clm blts dres
2,0,2% CRMAX MACAD DASA

)OREAD

»

Wi TXT10/ *2,1%
%%

0 AHESBYBNS T corhePAGRRESviR theg file system may be °°ne NOW
%%
1,0%
2,1%
%%
v IYNF AND WHEN THE MACHINF- ANSWERS WITH CARRIAGE RETURN

& é/,/oj) AND LINE FEED, TYPE 2,0$ TO CONTINUE
070

2,0%
)29(F§Y2T$T MSTYP DEVNO COADR LONG CLM BLTS RTAD CRMAX MACAD DASA
)O9READ

| NIg

TXT11, 12,0%
& TXT12, *2,0$

TXT 13, *2,1%
XX

%% ALL CORRECTIONS (PATCHES) IN THE RT-LOADER MAY BE DONE NOW
%% AFTER YOUR CORRECTIONS, TYPE 2,0$, AND WHEN THE MACHINE

<9 %% ANSWERS WITH CARRIAGE RETURN AND LINE FEED,
XX TYPE 2,08 TO CONTINUE
XX
<9 ;|_,0$
TX13A,
9 JORYTT FGCDBNQALH
10,0,10%
YOREAD
¢ i
TX13B, |
10.1$
% %% DUMPING OF SPOOLING-PROGRAM DONE
10,0%
t
\<t TXTL1A,
)29%\(;; MSTYP DEVNO COADR LONG CLM BLTS 99MRE CRMAX MACAD DASA
9) YOREAD
|
TXT15, *2,1%
0] XX
XX ALL CORRECTIONS IN THE "PAGING-OFF" AREA tfAY BE DONE NOW
y.%
C 1,01
|
TXST, ‘% LOADING SEQUENCE: TAPE-1-2-3-4-5-6-7
9) % TYPE 2,06 TO CONTINUE LOADING-
1,0%
9) T™XPL, '2,1%
% SIMTRAN-III 79-07.15 LOAD:
C X SINTRAN CONSISTS OF SEVEN TAPES.
% WHEN STARTING, EACH TAPE WILL IDENTIFY ITSELF.
% TAPES CAN THEN BE CHANGED TO MAINTAIN
o) % CORRECT LOADING SEGUENCE.

% THIS IS TAPE-1 (CONFIGURATION-DEPENDENT)

TYP3, *2,1%$

0] % THIS IS TAPE-3 (CONFIGURATION-DEPENDENT)
%
|

& TXPS, *2,1%$
% THIS 1S TAPE-5 (CONFIGURATION-DEPENDENT)
)ff === =---DD-D-D=D=-DD=-D=DD=-D=—=—=== =I=-Z==Z=====
TXP7, «2,1%

A % THIS IS TAPE-7 (CONFIGURAT10N-DEPENDENT)
% ===r=====n3==r=—=S=====S==========,======,==
TXE1l, *2,1$
% PLACE TAPE-2 IN READER AND TYPE 2,0$
1,0%
TXE3, 2,1$
% place tape-4 in reader and type 2,0%
1,08

/A 1
TXE5, *2,1$

%

X PLACE tape-6 IN READER AND TYPE 2,0$

1,0%
1



